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FORENSIC SCIENCE
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Forensic Science is :
(A) Application of scientific methods and techniques for the purpose of Justice
(B) Application of scientific methods and techniques for the purpose of Law
(C) Application of scientific methods and techniques for Police Investigation
(D) Application of scientific methods and techniques in Criminal Investigations
2. The principle of exchange was enunciated by :
(A) Land Steiner (B) Osborn
(C) Locard (D) Jeffery
3.  Collection of Exhibits from the scene of crime must be done by :
(A) Bare hands (B) With wet hands
(C) Gloved hands (D) Gloved hand with forceps
4.  Foot prints on dust can be preserved by :
(i) Casting
(i) Tracing
(iii) Electrostatic method
(iv) Photography

Choose the correct combination according to the code :

(A) (i) and (ii) are correct

(B) (i) and (iii) are correct

(C) (i) and (iv) are correct

(D) (ii), (iii) and (iv) are correct

J—8206 2



fafer-fasm=

A9 —11

Me: U YT # U= (50) T5-fahedE UoH €1 UAE U 6 oY (2) 31k &1 |t yei O W
HEL

1. fafufmm a2 ?
(A) I &G Sk fafesii Td aeetenl 1 ST
(B) I =g etk faferli el qepien! &1 SRt
(C) i THu™ ¥q AtTeh faferli we qehwiehl o1 SURT |
(D) STIUE - ST S 7Y SRR TS AheAIhi hl STANT |

2. fafra < fagia w1 gfaurea fean o 2
(A) e ®WER (B) ArEaH
(C) drre (D) SIwY

3.  STUUY - T 9 HI& HI ThA Ol HEA AT 2
(A) A E (B) A= g
(C) TaliaE ug el § (D) Toiiae g gl | fawdl fae gu |

4. YA REE - fae g 3 <1 whd 7 2
() g fafa gr
(i) fEism
(iii) s Rfew fafy gr
(iv) ISR g
WHIE & STTAR T STIHH I T Hitsq
aﬁ?:
A)
B)
Q)
D)

i) 3R (ii) ST W
ii) ST (iii) S R
i) 31 (iv) ST =&t

(
(
(
(D) (i), (iii) 3R (iv) T& ¥

(
(
(
(

J—8206 3 P.T.O.



Spermin and choline are constituents of :
(A) Blood (B) Semen
(C) Saliva (D) Fecal matter

Cheiloscopy is the study of :
(A) Lips (B) Iris
(C) Pores (D) Sinus

Analyser is used in :

(A) Polarising microscope

(B) Stereoscopic microscope
(C) Fluorescent microscope
(D) Comparison microscope

Match an item in one list with an item in the other :

List - I List - IT
(a) SEM (i) Indented writing
(b)  Gel electrophoresis (i) Downy Feather
(c) ESDA (iii) Blood examination
(d) GLC (iv) Arson cases
Code :

(@ (b) (o) (d)
(A) @ @) @G (@iv)
(B) (@@ @) @ (v)
(€ @) @) @O ()
D) @ @) (@v) ()

Atomiser is used in :

(A) Colorimeter

(B) LR. Spectrophotometer
(C) Emission Spectrograph
(D)

Atomic Absorption spectrometry
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10. Beer Lambert’s law is concerned with :
(A) Absorption (B) Excitation
(C) Reflection (D) Scattering of radiation

11. Best method to do ABO blood grouping is :
(A) Absorption inhibition (B) Absorption elution
(C) Mixed agglutination (D) Precipitin reaction

12. Arrange the test methods of blood in the proper sequence :
(i) Benzidine
(ii) Absorption elution
(iii) Visual examination

(iv) Takayama Crystal Test

Code :

(A) (@), (i), (i), (iv)
(B) (i), (iii), (iv), ()
(©) (i), (@), (iv), (i)
(D) (iv), (i), (i), (i)

13. Sieve test is used for identification of :

(A) Paint (B) Blood (C) Soil

14. Match an item in one list with an item in the other :

List - 1 List - II
(a) Amylase (i) Hair
(b) Choline (i) Saliva
(c) Hemoglobin (iii) Semen
(d) Keratin (iv) Blood
Code

(@ (b) (o) (d)
(A) @ @) @0 (iv)
(B) (@) @) (v) (i)
(© @ @) (@) @
(D) (v) @) @) (i)

(D)

Saliva
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15.

16.

17.

18.

19.

20.

P - 30 is Abundantly found in :

(A) Saliva
(C) Urine

(B) Blood
(D) Semen

Arrange the order of eruption of Permanent teeth :

(i) Canine
(i) Premolar

(iii) Incisor

(iv) Molar

Code :

(A) (i), (ib), (i), (iv)
(B)  (iv), (iid), (i), (i)
(© (i), (), (i), (iv)
(D) (i), (iv), (i), (iii)

Ethanol is used as an antidote in methanol poisoning because :

(A) Ethanol competes for choline esterase enzyme

Crack is a term used for :

(A) Morphine

(C) Benzodiazepines

Ammonium Sulphate method is used for the detection of :

(A) Volatile poisons

(C) Insecticides

B) Ethanol by-product is formic acid
Ethanol competes for ADH enzyme

Ethanol is cheap and easily available

(B) Amphetamines

(D) Cocaine

(B) Alkaloids

(D) Metallic poisons

The substance used by athletes for doping is :

(A) Mascaline
(C) Nandrolone

J—8206

(B) Amphetamine

(D) LSD
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21.

22.

23.

24.

25.

A ‘Dum - Dum’ bullet causes greater devastation in body because :

A) It disintegrates on impact

(
(B
(
(

~—"

It mushrooms after impact
C) Remains unaltered because it is jacketed

D) All of the above

Arrange the following in sequence based on the range of firing :

(i)  Scorching

(i) Burning

(iii) Metallic residue
(iv) Tattooeing
Code :

(A) (1), (iv), (ii), (iii)
(B) (i), (i), (iii), (iv)
(© (), (), (iv), (iii)
(D) (i), (i), (iv), (iii)

Walker’s test for GSR is used for the detection of :
(A) Nitrate (B) Carbon mono oxide

(C) Carbon dioxide (D) Nitrite

Components of RDX is :

(A) 1 - nitroguanidine

(B) Cyclotrimethylene Trinitramine

(C) Cyclotetramethylene tetranitramine
(D) Trinitrotoluene

Hair can be differentiated from other fibres by the presence of :

(A) Lumen (B) Lignine (C) Cells (D) Scales

J—8206 10
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26. Match an item in one list with an item in the other list :

List - I List - IT
(a) Margaret Pereira (i)  Finger prints
(b) Alec Jeffrey (i) Documents
(c)  Chatterjee S.K. (i) DNA profiling
(d) O. Hilton (iv) Serology
Code
(@ (b) (o) (d)
A O @) @ (i)
B Gv) @) O )
© G Gv) @ (i)
D) Gi) @ @ @)
27. Nodes are seen in :
(A) Cotton (B) Wool
(©) Ssilk (D) Linen

28. Relative density of soil falls within the range of :

(A) 1-18 (B) 19-3

(C) 31-5

29. Select the correct combination according to the code :

Compression tool marks are produced by :

(i) Hammer

(i) Cutter

(iii) Saw

(iv) Firing pin

(A) (i) and (iv) are correct

(B) (ii) and (iii) are correct
(C©) (), (ii) and (iv) are correct
(D) (ii) and (iv) are correct

12



26.

27.

28.

29.
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(a) ARMETW () eifa fa=
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(@ () () (d)
(A) @  Gv) (@) (i)
(B) (v) () @ (i)
© G @v) (@) (i)
(D) () @) (@) @)
Freafafaa & @ foa o 1S fomens <t §
(A) i (Fremm) (B) o
© wm (D)
gt =1 emuferes s 39 9o § o §
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(B) (ii) 3 (iii) T T
(©) (), (i) 3R (iv) T T
(D) (i) 3R (iv) ¥& T
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30. The following material is useful for casting of footprints on snow :
(A) Wax (B) Agar

(C) Plaster of Paris (D) Sulphur

31. Metopic suture, if fused, the age is said to be :
(A) less than 6 months
(B) more than 2 years
(C) more than 6 months but less than one year

(D) more than one year but less than 1 year six months

32. Cephalic index is determined from :
(A) Sacrum (B) Scaphoid Bone

(C) Scapula (D) Skull

33. The number of teeth of a human child of three years is :

(A) 16 (B) 20 (C) 24 (D) 32

34. According to Gustafson’s method, which is the most significant parameter ?
(A) Attrition
(B) Cementum apposition
(C) Root transparency

(D) Secondary dentine deposition

35. Human femur is identified by the presence of :
(A) Long and narrow neck (B) Rounded head

(C) Linea Aspera (D) Medial condyle

J—8206 14
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36. Chemical erasur can be deciphered by :
(A) Reflected light (B) Polarised light

(C) Thio cyanic acid (D) All of the above

37. Age of ink can be determined by :
(A) Colour (B) Sulphate diffusion

(C) Chloride diffusion (D) None of the above

38. The commonest type of Finger pattern in India is :
(A) Whorl (B) Radial loop

(C) Tented arch (D) Ulnar loop

39. Latent finger prints on finger nails can be developed by :
(A) Silver nitrate (B) Iodine fuming

(C) Lead carbonate powder (D) Copper powder

40. Arrange the following parameters in a sequential order for finger print examination :
(i) Ridge tracing
(ii) Core type
(iii) Ridge count
(iv) Circle reading
Code :
(A) (), (i), (i), (iv)
B) (i), (i), (), (v)
(© (), (i), (iid), ()
(D) (i), (i), (iv), )

J—8206 16
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41. Forensic entomology helps in the determination of :
(A) Identify the person
(B) Cause of death
(C) Time of death

(D) Manner of death

42. Match an item in one list with an item in the other :

List - I List - II
(a) Circular bruise (i) Thorn
(b) Perforating Injury (i) Cane
(c) Scratch (iii) Cricket ball
(d) Tramline contusion (iv) Sword
Code :

(@ () (o) (d)
(A) @O G @v) (i)
B @ @O 3G @)
© (@v) G) @ ()
(D) () (@v) @ @)

43. Assertion (A) : Adipocere is formed by the action of bacteria claustridium.
Reason (R) : It is facilitated by hot and dry climate.
(A) (A)is false, (R) is true
(B) (A) is true, (R) is false
(©) (A) and (R) are true

(D) (A) and (R) are false

J—8206 18



41. fafy e foqm =& wa1 oM # 7eg FA1 8
(A) =afh =t RARsd
(B) gF 1 kT
(C) Hg 1 wH Y

(D) Hog 1 T

42. GHR IS A RGN I & 75 6 fHasy
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HIT :

@@ () (9 (d)
(A) @ (@) @v) (i)
(B) G) (@@ @) ()
© @v) (@) @ (i)
(D) @) (@Gv) @) (i)

43. AMIRT (A): FoArgifeay Sampsii & g AU o= 1
@eh (R) : T Td g Sererg 9 39 H gfig At ¥
(A) (A) TR € W (R) HE
(B) (A) W& ¥ W (R) ToId B |
(C) (A) 3R (R) w&t ¥
(D) (A) 3R (R) T T
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44. Choose the correct combination :

Mummified body helps in determination of :

(i) Nationality of a person
(i) Religion of a person
(iii) Time since death

(iv) Place of death

Code :

(A) (i) and (iii) are correct
(B) (ii) and (iv) are correct
(C) (iii) and (iv) are correct
(D) (i) and (iv) are correct

45. Real honey can be distinguished form synthetic honey by the presence of :

(A) Larvae of mosquitoes
(B) Saw dust

(C) Ants and Flies

(D) Pollens

Read the following passage and answer the questions concerning to it :

Body of a young girl was found with multiple deep cuts over the neck. Her
right hand was clenched firmly with strands of hair. Her left palm showed
multiple deep cut wounds. There was discharge of blood from the genitalia with

tears of hymen and perinium. Her clothes showed starchy stains.

46. The wounds over the neck are suggestive of :
A) Assault

B) Accidental

C) Self inflicted

D) All of the above

J—8206 20
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47. The features of right hand is suggestive of :
A) Cold stiffening
B

~—"

Cadaveric spasm

C) Rigor mortis

(
(
(
(D) Heat stiffening

48. Wounds on the left hand are suggestive of :
(A) Fabricated wounds
(B) Defence wounds
(C) Self inflicted wounds

(D) None of the above

49. The bleeding and tears from genitalia is indicative of :
(A) Abortion
(B) Instrumentation
(C) Forced sexual intercourse

(D) Self inflicted injuries

50. The stains on the clothes can be identified conclusively as semen by :
(A) Acid Phosphatase Test
(B) Barberio’s test
(C) Spermatozoa

(D) All of the above
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